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(1) Ikg 3929 = Kg (6) |lkg 403g = KQ
(2) Tkg 551g = Kg (7) 99 = K9
(3) 9809 = kg (8) 4kg bg = kg
(4) |66g = K9 (9) 9kg 566g = kg
(5) 699 = kg (10) Ikg 748g = Kg
ROEIETmEMTELEL LD,

(1) Im 2lcm = m (6) 60cm = m
(2) 6m T4cm = m (7 94cm = m
(3) 8m 9lcm = m (8) Im 73cm = m
(4)  4em = m (9) 10m 29cm = m
(5) 49cm = m (10) 18cm = m
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(1) Ikg 3929 = 1.392 kg (6) lkg 4039 = |.403 kg
(2) Tkg 551g = 7.551 kg (7) dg = 0.009 kg
(3) 980g = 0.98 kg (8) 4kg 5g = 4,005 kg
(4) 166g = 0.166 kg (9) 9kg 5669 = 9.566 kg
(5) 699 = 0.069 kg (10) kg 7489 = |.748 kg
RODEIZmBEMATERLEL LD,

(1) Im2lem = 1.2 m (6) 60cm = 0.6 m
(2) 6m T4cm =  6.74 m (7 Y4cm = 0.94 m
(3) 8n 9lem = 8.9 m (8 Im 73cm = [.73 m
(4) hem =  0.04 m (9) 10m 29cm = 10.29 m
(5) 49cm = 0.49 m (10) 18&m = 0.18 m
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